= A
H = 0 A&F AF S & Al
S0 & Bt StAE s
A85
AstdeEs
e BAXY (et @ e)
N XH . C s HALH . & =2 OH HE =S
4z . 2 (S H) - MBAY - HES ;] Fat el o ol Hns2
o 17,070,867 15,116,698 1,954,169
2 950, 148
7| 57,213
[= 166,646
Al 15,896,860
ABHES 1,170,421 948,500 221,921
=2 25,610
J| 57,213
[=4 17,000
Al 1,070,598
e BHAXA 1,170,421 948,500 221,921
=2 25,610
J| 57,213
[= 17,000
Al 1,070,598
BHAS I A 51,536 52,816 A1,280
201 LBt 31,536 30,056 1,480
01 AF2 22| H 21,056 20,056 1,000
O=tEANERE2 XA HE 5,600,000& 5,600
OINE =2 222 H& 1,000,000& 1,000
OSZFNERE2 I8 =22 1,700,000 1,700
OBHHELA Ottt g Zalyl
8,000 x6H %473 2,256
OAMAIDMX &4 HFHUX SSChEHE ZAH|
8,000 x5% %523 2,080
Ox& =28 ¥ =22 H&
2,000,000 2,000
O™ Xt [AE O3 (HY)
2,420,000 2,420
OEY M2 4,000,000 4,000
(==l 10,480 10,000 480
e E:! Y o2 Z& 2BR
10,000,000 10,000
OHEg A NIETEZ EBHESPC SH23
20,000 «20H 1204 = 480
202 04l 9,000 9,000 0
01 2ol 9,000 9,000 0
omes S ol 3,500,000 3,500
ORH oL = 2 = ot 3,500,000 3,500
23 A2 = o 2,000,000 2,000
203 92 = 7,000 8,000 A 1,000
03 A& = | 7,000 8,000 A 1,000
oz ZER XY 7,000,000 7,000
206 24l 3,000 4,760 21,760




2N
X ZH -
L= B

el

_ _ _ SHE|
HE .o (3H) - HEAY - B gﬁ‘&i HRZ2
01 XH2Hl 3,000 4,760 A1,760
OllEY9A 8 AQE DA (AFHAZHS,
ey S 30,0002 *1007H 3,000
301 YBrE A2 1,000 1,000 0
12 JEtE &2 1,000 1,000 0
oszy 2IEE2 41842
1,000,000 1,000
ME2 25 ALY 20,200 47,200 A 27,000
201 LBt 5,200 5,200 0
02 222 5,200 5,200 0
OO0 £ Al 29| 5,200,000 5,200
206 24l 8,000 8,000 0
01 24l 8,000 8,000 0
O0MsSE 20|72 3,000,000 3,000
O S0k SHEC DAL (AE S)
5,000,000 5,000
301 Yt A2 7,000 5,000 2,000
12 JEtB A2 7,000 5,000 2,000
O0Ms=2 SX2 M2 a3 (20012)
7,000,000 7,000
ME2 EX2 4,000 2,400 1,600
[ 2,000
Al 2,000
301 Yt A 4,000 2,400 1,600
[ 2,000
Al 2,000
12 JEtE A2 4,000 2,400 1,600
O0M=s= X2 Ab(330t21)
4,000,000 4,000
[= 2,000
Al 2,000
SHOMSES EXAY 13,000 11,000 2,000
201 Yty 9,000 7,000 2,000
01 At 22l H 9,000 7,000 2,000
ORd FHEI €X =Y 2 7,000,000 7,000
O8lso 2 282 H 2,000,000 2,000
206 24l 4,000 4,000 0
01 24l 4,000 4,000 0
ORMOIMESES EXM PL(UHX,Z22)
4,000,000 4,000
ME21 60 e IE) 18,220 24,000 A5,780
=2 9,110




S$ZESH
AASELES
HEE XY

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 9,110
402 QI2F X2 0| & 18,220 24,000 AN5,780
= 9,110
Al 9,110
02 BIZIXIEANYE X (OIETHH) 18,220 24,000 N5,780
OO0t S = Il ol 0l &AM 18,220,000& 18,220
= 9,110
Al 9,110
SHEAIE HOEH 4,000 6,000 A 2,000
201 Bt A H| 2,000 2,000 0
03 A2 H H 2,000 2,000 0
OstF DA 29 (408]) 2,000,000& 2,000
301 LBrE A2 2,000 4,000 A2,000
09 HAIAHIBAZ 2,000 4,000 A 2,000
O&Z A 22(4038) 2,000,000 2,000
ENEE SHHIHEAMY 238,252 238,625 A 373
101 2124 4| 46,302 54,625 N8,323
04 JIZtHIZ22XNSE S 46,302 54,625 N8,323
OMMdE 29 JI2ZHHZ2Z2 X S0 (&8HD]) 23,151
220 1,745,150& »2H 6 & 20,942
-MEdZ 112,860 2 »6& 1,355
AR sEIIY 71,120& x2H 6 854
OMEIE 29 JIZtM 22X 20 (5H8HD]) 23,151
-2320 1,745,150 »2H «6& 20,942
-ME = 112,860& x2H 6 & 1,355
AR s3FIOY 71,1203 «x2H 6 854
201 LEr2 Y| 76,400 76,000 400
01 AP 2t2l bl 28,400 24,000 4,400
OEMAIE JIx=Xtg4d AEE44
2,200,000& 2,200
(@F=3=1s] 15,000,000& 15,000
OEMdl g sl E&-dl 2 (Hldl, 2], 3I3ED|
) 2,200,000& 2,200
OMAMIE &Y HIS # 2,000,000 2,000
OEMAIE & A 5,000,000& 5,000
OEMAIE A SH| 2,000,000 2,000
02 33249l 48,000 52,000 A4,000
OEMAL L X2 S XIdl(201) 12,000,000& 12,000
O 28 xtg KX 4,000,000 4,000
O 2323 20,000, 000& 20,000
OEMHAIE Al& &H| S XlH] 12,000,000 12,000




2AN: B#EESH
M NHSEES
el IS BAXH (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
202 (4] 2,000 2,000 0
01 2L Y] 2,000 2,000 0
OEMAIE =X Y] 2,000,000& 2,000
206 M=l 100,000 100,000 0
01 X2t 100,000 100,000 0
OMESZH & 2NN 2 100,000,000 100,000
405 XtabF S| 13,550 6,000 7,550
01 A&t = S F SHI 13,550 6,000 7,550
OSMMEDI 2 550,000& 550
OME=E MA 1,300,000& *10JH 13,000
EMOI2LCI Ol 2 13,600 13,600 0
201 LEt2AY| 10,000 10,000 0
03 S AIS H H| 10,000 10,000 0
OEmMoL2tdiol 4 (13l) 10,000, 000& 10,000
301 Bt A= 3,600 3,600 0
09 HALAHIEA S 3,600 3,600 0
OEMOI2HOI Ol =2 X EME 2 At2ll ASH(23])
3,600,000 3,600
NAgdMe AT S22 42,220 34,779 7,441
101 @121l 38,584 31,643 6,941
04 J|I2ZtH2ZXNEE S 38,584 31,643 6,941
OXNHAE MR AKX 22 22 38,584
-2= 1,745, 1503 4«5 & 34,903
-ME=Z 112,860& x4 5 & 2,258
-AsaIEIE 71,120& x4Y 5 1,423
201 LEt2AY| 3,136 2,636 500
01 AFR2t2l bl 3,136 2,636 500
O & E22 ME 2,000,000 2,000
OdetE N 2R A S Al 8,000& x2H *713] 1,136
206 M= Hl 500 500 0
01 X &2 bl 500 500 0
OXNHALMRAX SA22l MEH 500,000 500
EBEAIOERN &9 5,000 4,000 1,000
= 2,500
Al 2,500
301 dEtE A= 5,000 4,000 1,000
= 2,500
Al 2,500
12 JIEtE2 &2 5,000 4,000 1,000




SN BAESD
M NHSBEES
Sl HES XY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBAZEQERN QAMEE XS
8,000 625 Al CH 5,000
= 2,500
Al 2,500
HAHREZ MEE 24 0tA JHALE 8,000 8,000 0
2 4,000
Al 4,000
201 £B-2%H| 2,000 2,000 0
= 1,000
Al 1,000
01 At 22/l 2,000 2,000 0
Os28 M= 2,000,000& 2,000
= 1,000
Al 1,000
301 et a = 6,000 6,000 0
= 3,000
Al 3,000
12 JIEE4 3 6,000 6,000 0
OXE ALEHE HESX 2
10,0003 »4H « 15000 A& 6,000
= 3,000
Al 3,000
S8 SaJ|Y SFME XA 30,000 50,000 220,000
< 15,000
Al 15,000
308 XXM SO A 30,000 50,000 220,000
< 15,000
Al 15,000
10 B2 SUHUS3AHEAE A 30,000 50,000 A20,000
O=8 471y &3Hd XN& 30,000,000 30,000
< 15,000
Al 15,000
B Al -2 2EEE e MBI (EEE 52,000 52,000 0
gl oldEI 89)
J| 52,000
207 R4 2l 52,000 52,000 0
J| 52,000
01 289 52,000 52,000 0
OxZ2Y gl AM#AE OB 894
52,000,000& 52,000
J| 52,000
SHAH Al -2 2EsE e NI (EEE 5,213 5,200 13
ZH HE, A2 2UHY E9)
J| 5,213
207 RO 5,213 5,200 13
J| 5,213




EX: sH3Es
HM: JoHEsAES
Sl WEE HAEY CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 | 5,213 5,200 13
OxZEETEM =& 2ULHYE 29
5,213,000 5,213
J| 5,213
MEISIE =R S X2l 58,000 55,000 3,000
201 gBt24y| 35,000 32,000 3,000
01 AP 22| H| 35,000 32,000 3,000
OMENH 2 s2= M 1,000,000 1,000
OMEGHE SRAAIY A 22| (BHZ Y| ) (L=
Al HI~AHTH 10 2F0H) 34,000,000 34,000
202 o4l 1,000 1,000 0
01 2Ll 1,000 1,000 0
QHMElGHE SAAY AFZE2e] =& 0]
1,000,000 1,000
207 30 & 22,000 22,000 0
01 gAY 22,000 22,000 0
OMEGHE SRAAIS A2 (2LIEHZY)
22,000,000 22,000
MNHESEos X 29 5,000 5,000 0
307 2iz2to| & 5,000 5,000 0
02 QIZFA AAIE E X 5,000 5,000 0
OXNABESE S XY &4 5,000,000& 5,000
2 A A2 326,000 317,000 9,000
201 LBt Y| 26,000 26,000 0
01 AP 22| d| 1,000 1,000 0
OZ2=3&A 23 319 2 o s Hl=2
1,000,000 1,000
02 Z2=2=24%94| 25,000 25,000 0
Ost& 4 X 2el 25,000
2522 350,000 34 A~ + 1204 & 12,600
-SIEA B 30,000& *27 M 2~ %33 2,430
-2 2 20|13 &A SN2 9,970,000& 9,970
307 2iz2to| & 300,000 230,000 70,000
05 QIZ2tRE 2 300,000 230,000 70,000
O2Z= 32 Al (4901 A ) 22| SI2H E
300,000,000& 300,000
DESIEA NE2Y 3,000 3,000 0
301 LBt A= 3,000 3,000 0
12 JIEtE A& =2 3,000 3,000 0
OBYs&EA XY 29 (3MA) 3,000,000& 3,000




2N
X ZH -
L= B

el

S$ZESH
AASELES
HEE XY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HELQEMZ AlE X222 2,180 2,180 0
201 £B-2d| 180 2,180 A 2,000
01 At 22l 180 180 0
OHIEQXENTANE =ZZA =2
180,000& 180
401 AIEHIZL 2 0] 2,000 0 2,000
01 A& Hl 2,000 0 2,000
OHIEEMZAIE Sl 2e 2,000,000& 2,000
Melste=XelAld A 22 1,000 1,000 0
201 ¢4l 1,000 1,000 0
01 At 2t 2l 1,000 1,000 0
OMelst=HMelAld 222 M 1,000,000 1,000
ANagdadsi(ddsgs & 2al) 20,000 0 20,000
= 10,000
Al 10,000
402 RIZEX20l A 20,000 0 20,000
= 10,000
Al 10,000
02 RIZt Xt 2 AL EZ (OIS ) 20,000 0 20,000
OFHAXNY stEA HHEal XA (2HLA)
20,000,000& 20,000
= 10,000
Al 10,000
S - LFA A4 SFIHLAY 250,000 0 250,000
308 XXM SO A 250,000 0 250,000
07 IXNSHHAURE = 250,000 0 250,000
OSSFH - LFAl &4 BHIH AL (300 4)
250,000, 000& 250,000
MEAHES 30,000 18,000 12,000
< 13,000
Al 17,000
MEHH W et OFMAlZE &l X 30,000 18,000 12,000
< 13,000
Al 17,000
MEfwet OrMAlE & X 4,000 18,000 A 14,000
201 £B-2dH| 2,000 2,000 0
02 =224l 2,000 2,000 0
OMENH we OFMAZEXIALY A& & Hl S X
2,000,000& 2,000
206 M= Hl 2,000 2,000 0
01 =8l 2,000 2,000 0




EX: sH3Es
HE: MEfHES
Gl MEHAHI DS OFMAIZE & X (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OMEfH e OFMAIZS E X M=l
2,000,000& 2,000
AMEFH D2 OFMAIS E XA (ZHI) 26,000 0 26,000
== 13,000
Al 13,000
101 Q124 H| 26,000 0 26,000
= 13,000
Al 13,000
04 JI2ZtHIZ22NEES 26,000 0 26,000
OMEfH LS OFMAIS HMHEY 2122 (38 4
He) 26,000,000 26,000
= 13,000
Al 13,000
Holeg 22| 1,973,368 2,781,006 A 807,638
= 924,538
= 134,966
Al 913,864
oy =4 47,900 44,600 3,300
= 7,500
Al 40,400
ol =322 22,900 19,600 3,300
201 et | 19,600 19,600 0
01 AR 22l ] 3,600 3,600 0
OWIIHISAIEE QAT HAI =2
450,000 *8IH £ 3,600
02 222 4| 16,000 16,000 0
O™z 29H| (M2, 8482, 82
gl £) 8,000,000& 8,000
OSB=FZHHIAEET A L SX 22|
2,000,000& 2,000
OZ2SEXE KA 6,000,000& 6,000
405 XHAHF S HI 3,300 0 3,300
01 XA 2 ZF S| 3,300 0 3,300
OALLHZIIE &=H)| R (k=54 D])
300,000 =11CH 3,300
olegE sd3% S22 25,000 25,000 0
= 7,500
Al 17,500
201 gEt24dy| 25,000 25,000 0
= 7,500
Al 17,500
02 =224 H| 25,000 25,000 0
Ol sxa A2l (1HN)
25,000,000 25,000
& 7,500




M BAES
M UIIE z2el
ool oY =3 EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | A 7,500
CHOIE JHE AL 1,925,468 2,736,406 A 810,938
= 924,538
< 127,466
Al 873,464
SHAFI HEILA M2 ALY 808,194 925,050 A 116,856
= 404,097
< 60,678
Al 343,419
402 2I2H X201 M 808,194 925,050 A 116,856
= 404,097
< 60,678
Al 343,419
02 QI 2 AL EZ(OI X TH ) 808,194 925,050 A 116,856
O=2&#xt M3ollat AF(3340H) 808,194,000 808,194
= 404,097
< 60,678
Al 343,419
HHIAXE 2YH EX 72,000 36,000 36,000
= 36,000
Al 36,000
402 RIZEX20l A 72,000 36,000 36,000
= 36,000
Al 36,000
02 DIt EAILS EZ (01 TS ) 72,000 36,000 36,000
O&SHIATIE 2H EX 12,000,000 ~6CH 72,000
= 36,000
Al 36,000
HHIARE AZH X3 70,400 80,000 A 9,600
= 35,200
Al 35,200
307 21201 A 70,400 80,000 A 9,600
= 35,200
Al 35,200
02 It S AHE L 70,400 80,000 A 9,600
OdgIATtsI Hzd XA 70,400,000 70,400
= 35,200
Al 35,200
SIS A 70 X2 444,000 476,000 A 32,000
= 270,000
Al 174,000
402 RI2EX=201 M 444,000 476,000 A 32,000
= 270,000
Al 174,000
02 QI EAILEZ (01X S) 444,000 476,000 A 32,000
O&IIXES X 70 XA 14,800,000& »30CH 444,000

_9_
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CH

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

270,000
Al 174,000

=AU ESAHY 14,392 27,804 A13,412

10,280
Al 4,112

H

402 RI2FX=01 M 14,392 27,804 A13,412

= 10,280
Al 4,112

SX(0IETHE) 14,392 27,804 A13,412
X XNFA 7,196,000 2CH 14,392

,280
4,112

= W
>

23012t ZUEX 4K 22 12,183 11,146 1,037
6,091

914
5,178

= H W

307 glztol & 12,183 11,146 1,037
6,091

914
5,178

= MW

02 DI2HAMAYEX 12,183 11,146 1,037
OBZJI2t JUEX s 2=2/(2110)
12,183,000 12,183

6,091
914
5,178

= N H

ZIHX EX23 XS SF HeAMY 2,240 2,000 240

307 21201 A 2,240 2,000 240
5

It E = 2,240 2,000 240
J

]
,000& =280 2,240

=
_>'|_|
H
FA
oy
>
w
12
10
o
o 02

Sdl0lE HelXd 73,240 67,200 6,040
36,620

5,493
31,127

= 0 W

403 AXHHSXH=0lA 73,240 67,200 6,040
36,620
5,493
31,127

= N H

SISO U == AE AL 73,240 67,200 6,040
OsdiolE HMel N& Atg 73,240,000& 73,240
36,620

5,493
31,127

= N W

nx
o
0
AS |
A
J
0
He
N
nx
om
P
0

4,200 2,800 1,400
1,260

H




AN EIESH
M oy 22
SRl o2 HAA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,940
201 L4 4,200 2,800 1,400
< 1,260
Al 2,940
01 At 2t 2l 4,200 2,800 1,400
OAZet AUHIBIIE HAAMY
70,0003 *604 2 4,200
< 1,260
Al 2,940
AFHYXAE S 0IMESX M N A 45,050 509,050 A 464,000
201 ¢er24] 250 250 0
01 At 22l 250 250 0
OSASHNASEE OIMSX HEMY SS==
=3 250,000& 1A 250
308 AXIEHHSOIA 44,800 28,800 16,000
1037/ 2S0HUHeBHEAEALS HI 44,800 28,800 16,000
OZASHASE OIMSX HEMY A==
= 560,000,000 *8% 44,800
S MU AHT M2 ALY 240,000 480,000 240,000
= 120,000
Al 120,000
405 XtatE SHI 240,000 480,000 240,000
= 120,000
Al 120,000
01 AR ESFH S 240,000 480,000 A 240,000
OHIAI e WA € 7Y
240,000,000 = 1CH 240,000
= 120,000
Al 120,000
FHANES 0l@AME BIEFEI X 22,069 46,440 A 24,371
< 6,621
Al 15,448
307 21201 A 22,069 46,440 A24,371
< 6,621
Al 15,448
11T A S XA E = 22,069 0 22,069
OFLHE OlEAE SINEFI XA (1610H)
22,069,000 22,069
< 6,621
Al 15,448
HII0IEX ESAtY 12,500 17,500 A5,000
= 6,250
Al 6,250
402 RI2HXt20l ™ 12,500 17,500 A5,000
= 6,250




AN EIESH
Zu: o2y el
SRl o2 HAA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 6,250
02 U EALEZ(0IETHR) 12,500 17,500 A5,000
OHII0IEX ESALY 2,500,000 =504 12,500
= 6,250
Al 6,250
ISR GNMAMSE FEAHE dEAY 105,000 0 105,000
< 52,500
Al 52,500
403 XIS E X201 E 105,000 0 105,000
< 52,500
Al 52,500
02 SO 2SO HSHAHE X 2| &AL H 105,000 0 105,000
OSNAIEE FEAZ HeEAd
35,000,000 *304 2 105,000
< 52,500
Al 52,500
HOI2 &3 11,027,677 9,076,542 1,951,135
< 1,680
Al 11,025,997
H IS HMelAte 8,084,617 6,092,952 1,991,665
< 1,680
Al 8,082,937
HII2 BEMelAY 4,418,300 3,419,400 998,900
201 B2l 336,400 300,400 36,000
01 At 22l 22,400 156,700 A 134,300
OMYIIEHM(ZCHE) 222 ¢ 08 A
Sy 10,000, 000& 10,000
OtZiIstd FLARE(UXNR ) 7
5,000,000 5,000
O=tdilstd AIR4 E=J &WiE 700,000& 700
OHJIEXMelgNE2E SFHI
2,500,000& x13] 2,500
OdFEo232(52¢d) 28HE =XF 21X
MNEZ 4,200,000 4,200
02 =24l 300,000 143,700 156,300
OLHIEAXY |A22/H 15,000,000 =4CH 60,000
O2e)|Istt HAXE sX 22yl
10,000, 000& »5CH 50,000
OZ0IsAMNRA FX2LH(BER22 &)
350,000& 1200 & 4,200
OMYIISHEI BN A 22l (10)
4,000,000& 4,000
oMY SHHsSE B2 s BERZ
100,000 1270 & 1,200
OoMYDl ZSHHESE 2280 JMHERE
600,000& 600




2N
X ZH -
L= B

el

BAES]
HIlE NH&3s
HIIS Xl AL

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMEHII=E HAEEY=2 10,000 x18,000& 180,000
03 Al Y| 14,000 0 14,000
OAWHES 2YH(IEWHZL2S S)
14,000,000 14,000
202 044l 4,000 4,000 0
01 2L Y| 4,000 4,000 0
OHJIZ2 BYE) 8 g2 4,000,000& 4,000
206 M EHl 170,900 158,000 12,900
01 XHZ Hl 170,900 158,000 12,900
OLHEAZEAIZ B2 22 (1500H)
20,000,000 20,000
Osd4dHIIes #2220 HA 10,000,000 10,000
OMYI| S2HE2E A (95,2002HE)
140,900,000 140,900
207 30 & 17,000 17,000 0
01 gAY 17,000 17,000 0
OMEMHIIZE & S HotEH
17,000,000 17,000
307 2izto| A 3,800,000 2,920,000 880,000
05 QIZ2tREF 2 3,800,000 2,920,000 880,000
Od2t MEHIIZS =Mt 29|
3,450,000,000& 3,450,000
OREZL (=SS AHAl) =H KA el 25,000,000 25,000
OEHIIS & SHEIIHIIZS Heldl (2,190
£) 300,000,000& 300,000
OXNZBLHEHAX HEAK2IH] 25,000,000 25,000
405 XHA&HF S HI 90,000 20,000 70,000
01 XA 2 ZF S| 90,000 20,000 70,000
OO0l=s Al CCTV 2 (8LH) 40,000,000 40,000
OZ2el)|1ser Az 22 (200) 50,000,000 50,000
AF=ALE 2H 3,660,717 2,673,552 987, 165
308 XX SHHSOIA 3,660,717 2,673,552 987, 165
07 X SHH2AESZ 3,660,717 2,673,552 987, 165
O¥FZLAALE 2HEEZ2 3,660,717,000& 3,660,717
ZHAIDHHI2E &€ 208 AX| 5,600 0 5,600
& 1,680
Al 3,920
405 XHo&HF S HI 5,600 0 5,600
& 1,680
Al 3,920
01 XA 2 ZF S| 5,600 0 5,600
O0olsA! cCTV Y 5,000,000 «1CH 5,000




M 2#3EZ Y
M HolE XFE
S HIISH™el At (&)
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
= 500
Al 3,500
OZnE 4X 200, 0002 =34 600
< 180
Al 420
SHEIIZAlIE 2e 2,943,060 2,983,590 240,530
Mg Hez el 103,000 193,000 A 90,000
201 Let24E] 103,000 93,000 10,000
02 =224l 103,000 93,000 10,000
OMsM )| HEd AL SEH (M )KX
=l 50,000, 000& 50,000
OMEMYI| HBT BRI L 2E 242
S(XNat==& 2 55 F=2) 43,000
43,000,000
OUgHIIE & 28HEI HII=2 dAE2RE=
10,000& x1,000& 10,000
g23842 MelX& 2,204,700 2,107,480 97,220
201 Let2d] 418,800 411,480 7,320
01 At 22l 12,500 43,680 231,180
OSAMEFRHIIZ SEM A & 2 2=
K= 5,000,000& 5,000
OdJ|etEdE A | 2,500,000& 2,500
OHOIAIZ & =& Attl 2,000,000& 2,000
ORI AHAAEH 29 2,000,000 2,000
O&F=J & o gtz 1,000, 000& 1,000
02 2324l 406,300 367,800 38,500
OSASRHII2 NIAFANE 2323 131,400
I3 93,000, 000& 93,000
-AlE EE EO1E Ak 2,000,000& 2,000
-XNAX HHEE2EZ 400,000& 400
“MER3 36,000,000 36,000
OSAESFHIIZS ANAE HIISHE 2
= 2,500,000& 2,500
OSASsFHIISAE3 Al 2 FHHl KXY 272,400
-AXI| AZHI 200,000, 000& 200,000
XA B ¢ 1,400,000 1,400
-LPGIOtA 2 ¢ 1,000, 000& 1,000
-AEHEY M2 AAl 10,000, 000& 10,000
=JIH 2 AII&Hl +=2lbl 60,000,000& 60,000
202 o4dl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
OSASRHIZS SEAM S Ol
3,000,000& 3,000




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
206 M = Hl 54,000 54,000 0
01 & bl 54,000 54,000 0

OSAEFHIIZE 82 SN SEMH
150& *50,000& 7,500
OSAZEFHI2 8E+=H8)| ¢
70,000& =450 31,500
OSAMNE2HIIEZE NJSANE A2 225
e 15,000,000& 15,000
307 212t01 & 1,372,000 1,389,000 A 17,000
05 A2t E = 1,372,000 1,389,000 A 17,000
OSAMNESMIIE UARAE X
110, 000& *900= 99,000
OSA2BHIIS 42y 22
1,200,000,000& 1,200,000
OSAERHIIS EES(ZNM2) U2AEK2
Hl 250,000& =160 40,000
OSY0IAE H™eldl 33,000,000& 33,000
401 Al HI L 2 0HHI 350,000 250,000 100,000
01 A& HI 350,000 250,000 100,000
SAMAESFHIIZE NASJANE B+ & A
350,000,000& 350,000
405 XHoHF SHI 6,900 0 6,900
01 JtAY = ZF SHI 6,900 0 6,900
OFDISA EAHE M2E P2 4,800,000 4,800
OSAERHIIES KNISAIE DAAHAI 2
2,100,000& 2,100

Mes 488 A 534,860 550,610 AN 15,750
201 LEt2 Y| 200,500 181,000 19,500
01 AFR2t2l bl 24,500 35,000 A 10,500

oMgsdgd A25 7Y 12,000,000& 12,000
omMess 2c=H E22 HMZE 5,000,000 5,000
O&MI|IHHEH HEH| 3,000,000 3,000
OROBHAIAYE 2H 3,500,000& 3,500
O&=J] ¥ Hld Lth& 1,000,000& 1,000
02 352494l 176,000 146,000 30,000
ONgEHEE 3323 NE 61,000
-8IIe3 56,000,000& 56,000
EPNE= =Nl 1,000,000& 1,000
-AHEE2 4,000,000& 4,000
OomMgsdgd Al & &H Rl 85,000
-3 P 25,000,000 25,000
-t &2l | 30,000,000& 30,000




EX: sH3Es
M HIls NSt
SRl BHHIIZ AL 22 (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
-MHESHEHR AMEZ2 2 30,000, 000& 30,000
OoMegEsdEd HIIE Ne B2
10,0008 x3,000= 30,000
307 QI2t0| & 89,000 59,000 30,000
05 QI2t2E = 89,000 59,000 30,000
OMEZEHIIEZ S 22AAE H2lIHI (356E)
89,000,000 89,000
401 AlEHIZL 2 0HY| 100,000 100,000 0
01 Al& B 100,000 100,000 0
OMeasgEd Ald A 100,000,000 100,000
405 XHo&HF S HI 145,360 210,610 A 65,250
01 XML 2 FF S| 145,360 210,610 N 65,250
OMeEsHaEd JYES0EY 2
78,260,000 78,260
OMesaEd AdEEZH 2 51,500, 000& 51,500
OMEBEHEY YBYA 7Y
4,500,000 34 13,500
OMesHaEa DAMEI 2 2,100,000 2,100
LIs&EH ME235 = 4,500 4,500 0
201 et | 4,500 4,500 0
03 A2 HH| 4,500 4,500 0
OLIs&H A Hx & 29H| 4,500,000& 4,500
SAER HII=2 M =& 96,000 128,000 A 32,000
201 et d| 18,000 18,000 0
02 32%H| 18,000 18,000 0
OSA2E HIIS(RFIDZA) HEHBHY =2
22 18,000
= 16,800,000 16,800
R aPIET= 1,200,000 1,200
301 et A= 8,000 8,000 0
12 JIEtE A= 8,000 8,000 0
OZ2STH(OIIE) SA=R® HII2 =2Hd &
= == 8,000,000& 8,000
401 Al HI L £ 0HHI 70,000 102,000 A 32,000
01 Al& B 70,000 102,000 A 32,000
OSAZE2E HIIZS SZH(RFIDEA!) JHEH &
&H RAEE 70,000,000& 70,000
HHSHALH (BFAES W) 2,869,401 2,292,650 576,751
JI2ZH(#ZFE5 1) 67,360 67,360 0
Jl2dH (#2251 67,360 67,360 0




2N
X ZH -
L= B

el

SHAY S
HHRATH (BHEES )
=2zt (gzaesm)

A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 19,000 19,000 0
01 At 2t 2l bl 19,000 19,000 0
OFRN2 AR 22 19,000, 000& 19,000

202 o4 Hl 44,160 44,160 0

01 ZLHOHI 44,160 44,160 0
OJl2ge==80tl(23¥) 44,160,000& 44,160

203 R =& 4,200 4,200 0

04 FAE2IERFAH 4,200 4,200 0

ORM2YRFXHI(252015t)

350,000 x12& 4,200

QH2HH(#BES M) 2,802,041 2,225,290 576,751

AFolAH(2#ZES ) 2,802,041 2,225,290 576,751
101 1248l 2,802,041 2,225,290 576,751
03 RIAHAZZANE = 2,802,041 2,225,290 576,751

oaZilsd =0 2,802,041
-Jl2s(16ss) 3,086,980& »47H «1200 & 1,741,057
- HZ A 160,000& »47& 1201 & 90,240
-tEsg 40,080

bH < Xt 40,0002 x36H « 12 17,280
- RIS 20,0003 30 12 7,200
ELUPAIE] 60,0002 x10H « 12 7,200
O PUE 100,000& 7 x12& 8,400
-se2fE 186,480 47 13 113,940
-gE2E2E 23,3103 #4 Al 2+ x52L 4,849
-NHHSH EEE 468, 300& »47Q x43) 88,041
-EE2F0tl 3,086,980 «60%*47 H 23] 174,106
-PtE g 50,000& *4H «1200 & 2,400
-HRERIteE 186,480 47 10 87,646
-EAE 100,000,000& =4 400,000
-uUE3 A 8,000& 47 93] 3,384
- RAEE Y HAYRZ(200)
150,000% *47%H+3,000,000& 10,050
-l =Hl 43,428
-9 60,000 47 2,820
- b ) 30,0003 =474 1,410
Hgs(ss/0t=,42/56t9)
700,000& =47 32,900
Rk 80,000 47 3,760
- ¥at 20,000& =474 940
= 24,000 47 1,128
SHEA 10,0003 47 470
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